® y=3x2+4

@ y=-x?

1
@y=§x2

@ vy

-2 - x2 ® y=x(10-x)






3. O|RFS y = —3x2 o] A ZE x Z0] WlgFo

o] 2lo] y = ax? 4 bx 4 ¢ Y

B
(=

2 -29H BPol 5T

his

La+b+c o Js et

£



@ (0, -2) ® (2, 0)

@ (0, 2)

® (0, 0)

@ (-2, 0)



4L

oL

|

|

|

£ -3
O y=2(x+1)>2-3 @ y=2(x-1)%2-3
® y=-2(x+1)*-3 @ y=2(x+1)2+3

® y=2x-1)2+3



VS y = -2 2o U b 4 F B2 A
© yol gko]l W=y > 00|t

@ otz B3t}

® ZAHL gdo T £& yZoltt.
@ y=2x29) Te)me} xZof vf5to] oI,

® x>0 W, x9] gol Z7kstd y o] gt E7Faeh



[*]

JAFgHe y = —x? 1+ 4x—5 ©] TATA x gho] Z7ke ), y o] Zho]
A2 x o WS Fofelat

B

[, pol

[}



@ y=x*>-4x+4

DO y=-x>+4x-4

@ y=-x*-4x+4

® y=-x*-4x-4

® y=x>+4x-4



Fy=2x2-4x+3Fy=x*+ax+b 9
o, a+b O Fk

bt

1%
A]

o
o]
=

9.

Stofzt.

q_

O
=

k13
=



10.

@ y=(x+1)2+2

@ y=—(x+1)2+2

oJZ S y = (x - 1)2 — 2 9] 2L} x 2o tSte] T B E
1

A

—



11, oJA&E y = —x2 + 6x +m 2] 127} A2 AREHS A L]eh BE
AHEAE AUEE Sf= m 9 gho] Hel=?

® m>-9 @ -9<m<0 ® m=0

@ 0<m<9 ® m>9



12. TS J¥8e A x = 1S 202 5t o]z}

w__
ety = X% 4 bx + ¢ 9] 2ot} b, 9 ::E_l
24-S 2k2r Fotolal, |

A

o[

L
S
I

g ©



13.

7120] 2ol e} Alzo] o] ol 12
w, y o] Hghe Fotu?

@ 36 @ 16 ® 12



14. o2 oA &y = ax + bx+ ¢ 9 A Zo|tt. <HT|> F &2
AL % 2 7177

EZl
@ b?—4dac>0

© abc <0

® a-b+c<0

® 9a+3b+c>0

@ a+b+c<da+2b+c

@ 17 @ 271 @ 371 @ 4 7Y ® 574



15.

x=-3 Lo Higk4E 20,y dHol 29l
oAt ALy = ax? + bx + ¢ 2 T o,

2 Fatole

5 L
=%



16. x+y=10 D . 2% +)? o A%k Foba?

@ 10 @ 24 ® 40 @ 45 G 50



A% 22m F= A 24 30m & 92 94 &9 391 2§
=015 hm 2 S h = -5 + 301 + 22 1 A7 FHATE o] T2
™

2 2 Fofl HaL Folof =Esh=71?



ol

o|J
o8

ol
Nfo

ojn

A7 2w zte]

2

n+1

A} A= gho] Sdgkol "t

SR

2

n+1

n
2

o] FFwe] H

g

@ Aol A7k g5l

® ARl A7} Aol d



Fol Lietul

ZAVS

@ 242t ® 3A17t

® 54|

@© 1A7F

N

",

N

@ 44



20. oF EFEEZIE 1A g0 92]7] 715-& YERE Zo|tt
|27 7159 g7
A2l (m) =4 (d)

001”‘0} 5‘3]‘?} 1
5T ~ 10 2
107 ~ 15 4
15T ~ 20" 3

A 10

@D 10m @ 12m ® 14m @ 16m ® 20m



